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1 7+ (11—7) x2=74+4%x2=7+8=15
©50+24+3-44=50+8—44=58—44=14

2 (2% 1749 71E) — (28 1749 74)
=(3800+2)—(2700=3)
=1900—900
=1000(¢)

3 4x7=28

42) 24 60
2) 12 30
3) 6 15

2 5
242} 602 Z|tfEF4: 2x2Xx3=12
249} 602] ATl 2 X 2X 3 X 2X5=120

5 AR 170, S 370, AR 571, YA 774
------ 2 HiEEo] 2704 Foldytt,
Ao =S S-S 7+2=907) Yy},

7T 7Tx2 147 7x3 21
2_2x4_8
7 Tx4 28

7 _ 77 8 _ 80 . 7 _8

7 107 110" 11 110 10 ~ 11

2 _,1_,8 ,5_,3
8 3524 73%0 230 120
9 @13%x3=39 (cm)

© 11x4=44 (cm)

© 4x12=48 (cm)

10 1 m*=10000 cm’® = 5 m*=50000 cm”
1 km*=1000000 m* = 700000 m*< 7 km”®

11 7} 3x3=9 (cm®), L}: 3x3=9 (cm?)
Ch: 3x3=9 (cm?), 2}: 2X3=6 (cm”)

12 5 o4 10 o5k}l ¢} 5 Z3} 10 w|¥kel 422
HAE 38R WSoks =6, 7, 8, 99

Yet,

22 13~18% Gl

B A% S KI2ITIR] LIEHA|
B 2 Wz | ey
1.362 1.4 1.3 1.4
4.5 1_4_5_1_1
14 @‘7—X§X€:7X~§—X?:ﬂ,
3 1.5 3 1.5 _1(_ 2
©€X§X7:?X?X7:7<_ﬂ>
12
RAEVINEY
L 7-35_1,2
15 10><1€—w><§_3_11 (km)
45
16 360><%:45><3:135(%)
1

60
360 X 2-=60 x 2=120(2)

—N

= 135+120=255(%)
17 (ZF 2ow)=(Z e
=180°—80°—60°=40°
18 (A& va2)=K\E ca)=4cm,
(M c)=M 1v)=9cm
= (E)=9+4+4+9=26 (cm)

6 3=168 _; 6g

19 0.56 x3= 100 =700

20 0.8>0.6>0.43>0.25
= 0.8%x0.25=0.2
21 A= ke B WS gy
A& vk B WOl 20 429 go] 791 A%
28} mh B WOl =9 = 5yt
22 =AML AgAol R FA1919] 3 WE 4
A Yy,
(AHFE 2] Hol)=3x3=9 (cm”)
23 (53 HA =9 £A)=15x5=75 (kg)
24 75— (16+12+10+8)=75—46=29 (kg)
25 224 A% AT} 4, WA B A4
M= Z7] gZol dol dold 7Fsid& =2
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M: What are you doing? U= £X& stz lU?
G:I’'mreading a book. XM= g eim loi.

]

What are you doing?> A+ &
A E= YT dE=2 Tm+ 323 & e
2] dAF(-ing)..2 EIYTE I'm reading a
book.oJ2hal gl o Bz HHe @AYt

@ I am watching TV.
® I am using my phone.
@ I am shopping.

- read a book = SiCt

B: Welcome to my house.
<2| ol 2 2 Ik
This is the living room. o7I= 7o,
There are two tables and a big sofa.
ERX} 2707t QT 2 AL QUOIR.

€8

A WHE 2ske ARJUTh "This is+34.

oF Zro] avfgtct, 7|9 A= This is the living
room.o]2}al FouF AAYS o 4= QlHUTh
A, 25 A AgshHA A iRt B
=SS YT webA A2 OdYTh

@ S kitchen  ® 4] bedroom
@ %@(QX“‘) bathroom
- welcome Fsict

* house &

* living room 7{&

- table EIXt

- sofa A}

=22 25~30% &Yl

B: Mom. let’s try that together.
ot MAS &7 B,
F:® Well done. # 3Lt
@ No. it’s not mine. Of, 222 U 20| OfLf.
@ Yes. I can play soccer.
2 L= =728 4 9lo].
@ Sorry. I can’t. BIS Li= of &,

ol &

Met's+35S Uett= = & Aol A 37 st
AL AQFe wf AREE= YT IHollA o
apol A Fol7 |45 A BRARAL Aljbehe Hgolu,
rt= Al FHolBE AH2 @YUt

o try Al=sict

* mine o] A

* play soccer =75t

4
)1 e

B: We have PE. today. ®2l= 2= s +go| loi.
G:Do you like PE.? d= Hs2 £okst?
B: Yes. it’s my favorite subject.
3, N2 W7t o< Sotsk= 1t=F0lof.
How about you? 4= om?
G: My favorite subject is English.
LH7} o< Z0teh= nF2 So{ok.

[

"My favorite subject is+2+5"8, 2> -5~ Fol6h=
I5g YeEtle EdIYHh, ‘éx} ojdol=
PE.(AlS)star g3z, ofz} ojdloli= English(¥
o)l gl e HE AHE @UYTh

@© =o{(Korean), % {(English)
@ =o](Korean), 2F(music)
@ AS(PE.), <% (music)
-PE. A=

800 N



« favorite 01 Z0fot=
* subject o=
+ English Z0{

G: What will you do this weekend?
L= ot 2ol RS & AHLI?
B:I'll visit my grandfather.
LH= SHOHHX| S 2E2e 70k
What will you do? He 2Hs & AU?
G: @I will play baseball. Lt= oFE & 7ok
@ He is my grandfather. 2= Lto] EOMHXIOF,
@ Today is Friday. 2=2 32o|o}.
@I went to the zoo. L= S=#of ziol,

oz 3t A FolE wj= What will you do?2}

3T =
7w} o]oA o 3 T will +35=
u

Blls a2 Iy OoA T will play
baseball.o]gtal gubA wglom=z Hoke OYUY
=3

@~ ﬂrﬂ of SP % FHTH= AU
- weekend Y

- visit 2=t

* baseball O+

©zoo S=H

6
£)1 (e

B:1have a new bike. L= A X747t AZd04,
G: It looks great. Zot =2lct,
B: Thanks. I like to ride a bike.

10Ok, Lh= XIE7 Bl AE E0k6H,

€8

Tlike to+3 5= YeEfl+= 2 2

12 =6

Ap4le] ks

0 FHSHE BT B of ol Tlike to
ride a bike. 23 BHO B Fere @YU

@ I like to watch movies.
@ I like to read comic books.
@ T like to play the piano.

« It looks ~. 2 ~&tA| HeICt,

® G: Can I sit here? U7t of7] gtot= &f?
B:Sorry. you can’t. DI2tHx[2, QF .
@ G: Can I help you? U7t =etznr
B: Yes. please. &. &6l
® G : Can I touch this cat?
LH7} O] D¥0|S BHXEt= E7f?
B: Yes. you can. 8. 32i= =i,
@ G: Can I watch TV? Uizt 2eib|@s 2t 2717
B: Sure. you can. 22 32i= =,

ol &

AAE 18 E0S 9olEH- ofo]E o=
AU, AdiollA Ee= AlSFed W= Can 1
help you?e}al Lol A o] oAE HA =
oj= Ut} m=ejeteta g 7 9of Yes, please.2 T
golEE e @YYt =30l 2 gl e
I'm okay, thanks.= tgghoh,

- sit SACE

- touch ZHX|CH

- watch TV 22iH|ME &t

B: Excuse me. &@ELct
Where is the post office?
=2 ofnlof ALR?

F: Go straight and turn right.
EHIZ 7t CH30l| REZCR AL,



B: Go straight and turn right?

SEHIZ 7t OHS0| RE%0= E2t1e?
F: Yes. it’s on your right.

Hl, X2 glo] 22X AL,

It’s next to the library. 322 =2 Foil 2loi.
B: Thank you. Z2&Lich

A& Stdste A=A, 2 NA Go
straight.(5HH2 7FA|8.) — Turn right.(2E%2
2 ZA|2)) — It's on your right (232 Z419]
QEZ0] 9lolf ) — It's next to the library. (27
< =X Fofl Qloj2)9 HE wEw AHS
@AYt

@O =252 Go straight. — Turn left. — It's
on your right. — It's next to the park.

@9} =2ksl™ Go straight. — Turn right. — It's
on your left. — It's next to the museum.

®@of =28t H Go straight. — Turn left. — It's
on your left. — It's next to the flower shop.

- post office A=

* go straight =HHZ 7iCt

- turn right @EZO2 Srt

* on your right G412 2EZo0]

* next to ~ Kol

G: Nice to meet you. ZHtAf 2712,
B: Nice to meet you. too. Lt SA] BHEA] B2t
G: Where are you from? U= oft] &4loju?
B: ®1It’s on the desk. 222 2 2{oil Uoi.
@I have lunch at twelve.
Li= 12401 Eels ol
@ I’'m from Australia.
L= R@AE|U2(0f E4I0[0F
@ I visited my uncle in France.

[_|-‘— J_LE,I'A()” 71|A| AlE=S H"E'C'HO‘I

= O M

=22 25~30% Y

o4&

Where are you from?2 ZA12]| (=717} o t] Q1]
v YU giES Tm from+H2h(A %) o]
HPE;PQE} ®)4] T'm from Australia.2}

» where O{C|of|
- Australia LAEY|UZ|OHSF)
 France Z&A

10

G: Mom. what are those?
20k, MUSE Hol?

F:They are your new shoes.
2174 Lo Af Alolof,

Try on these shoes. Sumin.
0| Algts MojEH, 2ok

of&
AASh= ol digh AU, A Als)
& Uehdl= o] 732 W ol gUth, of7]e]
A= try(MEsHhEls AAJolE HeB g =hlo]
7} & Fo ANRS Aloj R AUt weba
T2 @Yyt

o

ol
=

==

I‘IF
rlo

® W& A4stetal @ ufi= Clean your room.
@ Alg=stetal & wji= Wash your face.
® Hojrefal & wi= Try this.

- those that(2Z)2| 24
- shoes At
o try Al=SHCH

oot

11

B:How was your weekend? o] &2 o{#L?
G: It was fun. ojURL0L.

B: What did you do? 4= Fg #U?
301 13



G: ® I made chocolate cookies.
Li= £33 2712 25301
@I don’t like to dance.

L= &5FE XS Z0I6HK| 2ot

@ I'm from New Zealand.
L= wE-= S410[0F,

@ You’re welcome. Z2toil.

B
What did you do?= IA 3 Y& E= ol
oE gigs @ fx A 283 AREsior &
}, @01]/\1 made(make®] IAE)E # A4 1 made
chocolate cookies.2Hal W3l o B2 HHE QYL
- weekend =Y
- fun MoU=, EAH2S
+ chocolate cookies ZEH 77|
* New Zealand w&H=

M: Jinho. are these your scissors?
ZISOL O|A Ll 7HiY?

B :No. they are Yuna’s scissors.
O, a7 FLtel 71910,

M: Then. whose pencil is this?
a3, 0]A=2 =71 HEO|LI?

B :It’s mine. 27 ® ZololL.

Thanks. D&tk
B
219 FRE 2 AU 7helell disiA=

Yuna's smssors(vur—J 7Feetal E3al pencil
(92)E mine(H2] Z)oletal Wileng 21359
=72 dZdunh e g2 @Yyt

* scissors 7t

- whose +72

* mine Lte| A

14 =6

13

B: @1 get up at seven o’clock.
LE= 7Alof 2oLt
@1 go to school at eight thirty.
Lk= 8Al 30201 twol| 7.
® I have dinner at six.
Li= BAl0f A AMALS 3.
@1 go to bed at ten. L= 100 Exl2jof Soi.

g w="1 6}% Atat Al 02 TR

@9] 19S HH 84] 30+0] st 7h=
to school at eight thirty. 2}l U5

I ol dAZYTh wEbA Ad

@ 1 get up at seven thirty. U= 7A] 3020l Lot
® I have dinner at seven. U= 740 29S|
@ 1 go to bed at nine. U= 94|l =tejeo] £,
+ get up YOJLICH

* go to school Stuwofl 7ttt

* have dinner M<S HC}

* go to bed ZEXz/ofl SCt

14

G: What do you do on Sundays?

L YR PRS BILI?

B: 1 go skating with my sister.
Lh= LIS )2t AFAOIEE Ef 7t
How about you? U= ofui?

G:1clean my room. Lt= W €S Has,

oH&

Ao sh= & =5 "ol= What do you do
on Sundays?2til Iyt digoz M+3s5S
Uehli= 2k Zo] Hakynh, oA ofdol= 1
clean my room.o] 2t EF o HE A2 DAY,



@ Iride my bike. U= AHAE €,

® I play the piano. U= ok AEE 3,
@ I go skating. U= &7|0| EE EHY 71,

- on Sundays €20l

- skate A#|0|EE EiCt

* clean EAsict

e room 2f

L= O 7420l M=ol Z 7{of.
I want to ride a horse there.
L= AH7(0IM 22 Bt A0,

{ B: 1 will go to Jeju-do this winter.

Ale o8 w3l wiof= T want to+3F 5
= T2 Y o7]oA= T want to
a1 Ao} )Ekar geion

@ I want to walk. U= 211 Alof,

® I want to go skiing. U= A7]& EfaL 4lo],

@ I want to visit a museum. W= B3l 7}l
Ao,

+ Jeju-do HIF=

- winter 742

G: Look! She’s my mom.
2 Jl4= L Hoto|A.

B: What does she look like?
(2] Hoh= o EA M7 1RL?

G: She has short curly hair.

(2| Hoh= &2 FEH20|A,

=22 25~30% Y

She is wearing a skirt.
R[OS 4 AIM,

ol&

DAY %S w= He/She has long/short hair. =
T, 2AES U off wear(Ythe % ©]
Qo= ol A= AT, BAL A 5)3 3
Al ZUth, 017|941+ short curly hair(3-2 H&
m2])¢} wearing a skirt(X 1S Q1 =)t W
ooz HEe @Yy

@ She has long straight hair. She is wearing a
dress. 1H+= 71 AelE 280 AA, Ide =9
22 91 9],

@ She has long curly hair. She is wearing pants.
IY= 7 weHEE A AN, Y= vAE o
7 g,

@ She has short straight hair. She is wearing
pants. 1Y Z> A2l E 285 AA. U vt
A% @ o],

* look like ~3l7| £0ICt

* short &2

+ curly hair &0z

+ skirt X[Of

17

B : Dad. can I have this ice cream?
Otitt, & O] Ol0|AT RS HOE EHR?
M: @ Sure. you can. =&, J12= &,
@ This is a kitchen. 0132 Fgfolof.
@I will join a ski camp.
Li= A7| Zzof| &71E 740},
@1 like to make snowmen.

Li= ZAE 2E= A4S 20kl

[
"Can T+|2T1A SHe U2,2 Aol A| sl
2 73 ) AHgl

rlr
Fl
[.. f
1A
i
=
o
1
rlo
5
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Sure, you can.(5/=2, H.)2=2, A4 Sorry,
you can't.(W]QFSHAIRE, QF = )@} 2o FER T,
OO 4] ob7} Sure, you can. o2 tiEglon=
gL 0Yyt
* ice cream Of0|A=Z
s sure =2

- kitchen &

s snowman AR

18

o A BES 7} %0 BAlL,
AL GAIY o2 gt

L PR steu, Bulz 4 B
Pl — %02 £7] - gale] 2.2%0 914

wet o) st Uk ARHE Y

b
Nl
o

i
o

il

©

%0,

@e]l 7FH Go straight two blocks and turn left.
— Go straight. — It's on your right.

@e] 7F®H Go straight two blocks and turn left.
— Go straight. — It's on your left.

®°] =25t H Go straight three blocks and
turn right. — It's on your left.

* go straight =HKZ 7iCt

* block At Hojzl, 25

- turn left RZLZE =Ct

19

Aglo]e] 217]
2021. 10. 16. E8 ¥
e ARE ) e WS 2kt
U A7|eA] 7] 2 URES Bl Bkt
]

el @A Aol AekE e,

16 =6

ol &
A7]o]B 2 went, saw, played2} 22 TAE E
dol AREEIYIF YT A|Rlo]= I saw tall trees.2}
2o ANt Z(flower)oll A= AFsHA|
otom= zulo)7}k gk Yo] opd A& EZ = A
Ayt 18EE gL @Yy
- went go(7tChe| Tt

* saw see(2CHe| 1Y
- tall tree 7| & LIF
- played play(&Che| A

FI[‘

20

@ °hd, Emma.

@ v wsin g2
= 948E B g,
@ ox 050 270l v A,
~ Aok, 34 it A
o},

oH&

et's+35S Uehll= 2 AidolA +3lel
7Fe A sHARAL A wff AREEE ERAYUH
Paul®] Emmaci|7]| Let's go skating this afternoon.
ojgtal A9kl Emmas Let's meet at three .2}l
Dot ofEATES 3AI= AFRS U Paulol
Okay.= efglon = AL @YUt

* meet ZLICE

+ at three 3A[0f|

91, Paul.

21
ﬁ“kl
Aol
1. e 2Ey ohg W Aot
2. W AHEST E Rolt
3. W e 9 goltk




=2 25~30% &Y

- cap is this?7} =1 Rzt S0 @S Whose
BAES HY BT Twill ~'9] PR 29on Ayt kA g2 @dych,
2 o] 3 dolakes AL & 4 dsych E3
New Year's Day+= Afsfio] G(A)ol== o] 2o = - cap (0F) 22Xt
O A AFolahz AlFo] dutsyct, whapal
%‘J%% oYYk,
- 24
@ 7152 47k o] ohma gy,
® 2ol gt AF2 glomE oyt o A o3 st
@ BA7F oyt mjefof] digt ZolBR YTy | Sy mayst gy
* New Year's Day &< @ ®
* cousin AEE @ Amt El
* rice cake soup H= @ Aut B
® bl 7
29 @ H}2| e
ol A A
A7} o17] Sl =) Rzt 2xbdol| gt A J‘/IE}. @A} of=o]
7F 4L Q= A vpA|o ]EE 117F @0f+= pants,
(i) o]z} ojgol= wert 47 Hﬂv‘i— RAEANOL A=
mzro] ul obof| Q= AR} tlEALE Kot FlHE longo] AB5UTH T ER HHE Oy,
can — Can®.& IAok 3111, i B oftlofA]
#olE t)&x} [2 Hof 3FUth Can I ~?7= ]2t - wear ~2 E&sICH
S QM= HHo|lma Bxlo] Lo AELH)7} + long hair 7! Hz|
ojok ik, mebd Can I sit here?7} S0H2 £
oo g A2 @YYt
l
 sit here o17]°f| Fe} p— o o i
- A
| EeRE | wm | |
ol &
A opE A A Fotsht 98 402 thehd ol Tlike to+
Bropl, o i el ook 9ES Yyt wEdUd oo
Al OIRE 78] BRI :
B: 7174 Tome| Zo|ok. e A e Ale Forith 9] ofnjo|B 2 T like
. toread books. 2 4= ¢ 4= S U wEt
A AR @YYt
B9 Fole Ei 9t rWhose+%74+is
this/are these?,@ 3 Mt's/Theyre+5¢l ©]§s = *like to ~oh= 2 S0kt
(+27).,02 g3, a8 g A8 Whose - read a book S Tt
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